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run_13054067 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13054067 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13054067 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13054067 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13054067 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
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run_13054067 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13054067 FGT_ADC 1, Timebin=2,Disc=3,asmb=3DA
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run_13054067 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
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run_13054067 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Thu Feb 23 18:35:10 2012
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run_13054067 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
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run_13054067 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13054067 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Thu Feb 23 18:35:11 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13054067 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Thu Feb 23 18:32:51 2012
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run_13054067 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Thu Feb 23 18:34:37 2012
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run_13054067 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Thu Feb 23 18:35:11 2012
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run_13054067 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Thu Feb 23 18:32:55 2012
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run_13054067 _FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
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run_13054067 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Thu Feb 23 18:35:12 2012
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run_13054067 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13054067 _FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
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run_13054067 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Thu Feb 23 18:35:13 2012
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run_13054067 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13054067 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
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run_13054067 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
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[ADC RMS for RDO=1,ARM=4,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=4,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13054067 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13054067 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13054067 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13054067 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13054067 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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run_13054067 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13054067 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Thu Feb 23 18:35:18 2012
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run_13054067 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD
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[[ADC for FGT RDO=2,ARM=0,APV=12 |

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=13 _§

AODOped

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2.ARM=0.APV=14 ]
—

ADC-ped

S

10°

1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=15

éDCAped

10*

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=16 _§

-
°
[
Q
a
0
10?

10

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=2,ARM=0,APV=13 "}
4000

i
60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=0,APV=14 "}

" 1
60 80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 pP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=15_}
- 4000 p—
5] = . . .
o = 2
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=0,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 <411
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

. A e, . .

10°

10°

10

10

10




run_13054067 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD

Thu Feb 23 18:34:46 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

i i
100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

-500

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

120
APV channel

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

I
120

-500

[ ADC MPV for RDO=2,ARM=0,APV=16 }

20 40 60 80 100

APV channel

MPV (ADC-ped)

-500

120
APV channel

20 40 ) a0 100




run_13054067 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Thu Feb 23 18:35:19 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

RMS (ADC-ped)

250

200

350 f=

300

150

100 B

50

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

RMS (ADC-ped)

[CADC RMS for

RDO=2,ARM=0,APV=14 |

RMS (ADC-ped)

70

60

50

40

30

20

10

IH'I

TR T

°'I1II|H'I1]IHI‘|

[CADC RMS for

RDO=2,ARM=0,APV=15 }

RMS (ADC-ped)

60 F

50

40

30

20

10

°'I'HI]I11'I'|'ITH|111'I'|'I'HI

APV channel

[[ADC RMS for

RDO=2,ARM=0,APV=16 }

RMS (ADC-ped)

50

40

30

20

10

|

APV channel

°'H1'I'|'II1'I'[II1'I'IH-'I'_'r-|'-:|:’n'IT [l




run_13054067 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD
Thu Feb 23 18:33:30 2012

ADC for FGT RDO=2,ARM=0,APV=17 _§

k=1
@
5
8}
)
40
10*

10

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=0APV=18 §

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0.APV=19
—

C-ped

HAD
<

10

3000 4000
raw ADC

0 1000 2000

ADC for FGT RDO=2,ARM=0,APV=20

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0,APV=21 _§

-
°
[

©
<
10

10

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17

= 4000 p—
] = . . . . . .
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 f——
=
=
0 f=—=
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 "}
= 4000 p—
] = 0
5 =
8 3500 =~ -~ - =
< = 8
3000 f=— - - - - - o|p=odegescecssscaes =
2500 = +|- - - - - B R EE TP -
=
2000 = - - - - - B T -
= o
1500 f=r— |- - - - - -
= 8
1000 f=— |- - - - - L -
= 8
500 = -t 505 =
= H 8
0f=—+---~ B -k
= . . i . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=19 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

[[ADC for FGT

Py
]

0=2,ARM=0,APV=20_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1
120
APV channel

80

1 H|'I1II'|HI'I

=
=
=
e
=
=
=
=
=
=

0

[ ADC for FGT RDO=2,ARM=0,APV=21 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

80 120

APV channel

B . . Ens o

APV channel

10°

10

10°

10

10°




run_13054067 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Thu Feb 23 18:34:47 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=19 |

MPV (ADC-ped)

i i i i
20 40 60 80 100 120

-500

APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13054067 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Thu Feb 23 18:35:20 2012

[CADC RMS for

RDO=2,ARM=0,APV=17 }

RMS (ADC-ped)

80 p——
=
=
70—
—
— .
60 = .
— a
= .
50 n
H | :
40 p— 5
) e T e L N B e I 1 R R § R L
= :
AU re £ttt ettt ettt ettt ittt ittt Fol
= : :
0 = e A b e i i H bttt fa
= i i i
0 20 100 120
APV channel

[ADC RMS for

RDO=2,ARM=0,APV=18 }

RMS (ADC-ped)

80 === A R A e LS T R e s

70 5 8 5 . R D T
= I I I o o 2 2 doo

60

50

40

30

20

10

S - CERIICCERIIOCENII0CENIJCERND: |

1
9 120
APV channel

[CADC RMS for

RDO=2,ARM=0,APV=19 |

RMS (ADC-ped)

70

60

50

40

30

20

10

°'I'I'I1]1III|IIH[|I|||||||r1-H'II IHI‘|

APV channel

[CADC RMS for

RDO=2,ARM=0,APV=20 |

RMS (ADC-ped)

]IHI

70

60

50

40

30

AT RA

20 =
=

10 f—
=
0%

APV channel

[[ADC RMS for

RDO=2,ARM=0,APV=21 "}

RMS (ADC-ped)

APV channel




run_13054067 _FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Thu Feb 23 18:33:35 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2BC

2,asmb

In=2,Disc=

b

Ime

Thu Feb 23 18

run_13054067_FGT_MPV_1,T

34:48 2012

2ARM=LAPV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=1 }

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

ARM=1APV=2 "}

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2ARM=LAPV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=4 "}

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel
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